


P6 STD MATH SYLLABUS

Whole Numbers

Numbers to 10 million              Four  Operations

Solving word problems

Fractions

Fraction and Four Operations        Division of Fractions

Solving word problems involving the 4 

operations

Decimals Percentage                          Ratio (relationship between 

(increase/decrease)            fraction and ratio)

Finding the whole               Finding whole/part when 

given a part and the %        whole is divided into parts

Solving word problems

Rate and Speed *

Algebra  *

Geometry
Area and Circumference -Circle   * Volume of Cubes and Cuboid

Quadrilaterals                                                   Nets *

Data Analysis
Pie Charts     *



P6 FMA MATH SYLLABUS

Whole Numbers

Numbers to 10 million

Four  Operations

Solving word problems

Factors and Multiples

Fractions

Fractions and Division

Four Operations

Solving word problems involving the 4 

operations

Multiplication and Division

Rate and Percentage (GST /Annual interest)   *

Decimals 

Measurement

Area of Triangle   * Volume of Cube and Cuboid

Geometry Angles Rectangle, Square and Triangle

Data Representation
and Interpretation Pie Charts   * Average ofa set of data



Pupils will also learn:

These strategies (heuristics) for problem 

solving:

×Look for a Pattern

×Draw a Model

×Systematic Listing

×Supposition



Tom was given a sum of money as bonus. First he gave ½ of it to his parents and 

$80 to his sister. Next he donated 2/3  of the remaining money to charity. Finally 

he spent ¼ of his remaining money on some clothes and $150 on a bag.

If he had $2490 left, how much was his bonus?

Left with 2 u + (1 u -$130) = $2490

So in order to get back 3 u

Add $150 to $2490

= $2640

3u = $2640 

1u = $880

4u = $880 x 4

=$3520

$3520 x 3 = $10 560

$10 560 + $80 = $10 640

$10 640 x 2 = $21 280

$parents
$8

0

$3520

Charity

Clothes

$150

$2490

$10560

His bonus was $21 280



No. of 

Cows

No. of 

cow legs

No. of 

ducks

No. of 

duck legs

Total no. 

of legs

Condition 1:   50 cows and ducks
Condition 2:   140 legs

25 2525 ×4 = 100 25 ×2 = 50 100 + 50 = 150 

24 24 ×4 = 96 26 26 ×2 = 52 96 + 52 = 148

: : : : :

140

150 ð140 = 10

150 ð148 = 2

10 ÷ 2 = 5

25 ð5 = 20 cows

20 20 ×4 = 80 30 30 ×2 = 60 80 + 60 = 140



Figure 1 Figure 2 Figure 3

Figure Number
Number of 

shaded squares 

Number of 

unshaded squares 

Total number 

of squares 

1 1 0 1

2 1 2 3

3 4 2 6

4

Figure 4

4 6 10

(d) What is the total number of squares in pattern 20? 

1 + 2 + 3 + é + 20 = ( 1 + 20 ) Ĭ( 20 õ2 ) = 21 Ĭ10 = 210



How is my child taught?

V Topical Reviews

V Heuristics Worksheets

V Textbook and Workbook

V Factual Fluency

V Onsponge (P6 CA STD)



ASSESSMENT

üHOW WILL MY CHILD BE 

ASSESSED IN MATH AT P6 ?


